215s-03 Neox Tanktop

Suggested yarn:
* Pierrot Yarns Neox [60% ramie, 25% silk, 15% rayon; 111 yds/101m per 1.41 0z./40g skein]; color #01 platinum white, 6 skeins [225¢]

Tools/Notions:
+ 3.0mm (US C or D) crochet hook or size necessary to achieve gauge

Finished measurements:
* bust 94cm/37.01"

« cross back width 37¢cm/14.57"
* back length 54cm/21.26"

Gauge (10cm/4" square):
* single crochet (US) stitch: 26.5 sts and 21 rows

Gauge may vary according to individual crochet style. Change hook size if necessary to achieve gauge. Alternatively, rework pattern with your own gauge measurements.

---------------------------------------------------------------------------------------------------------------------------------------------------------------------

Summary
*%-Note: Like all Japanese patterns, stitch counts given here for foundation chains do not include any chain sts needed for turning posts.

Pattern stitch A: Crochet 2 each of part A (ch251; pattern stitch for 3 rows) and part B (ch241; pattern stitch for 3 rows). Referring to schematics, work pseudo broomstick lace pattern by
slipping elongated sc loops through other loops as shown.

Finishing: Working into stitches of pattern stitch A section, work in pattern stitches B, C, and D. Work edging along hem and side. Seam shoulders with chain seam (alternating ch st and
slip st as needed to maintain pattern). Work edging around neckline. Overlap back & front sides as shown in finishing schematic, then seam in place by working edging at armholes. Adjust
finished bust size by altering amount of overlap at sides.

Abbreviations:
ch = chain dtr = double treble (US) pm = place marker s¢ = single crochet (US)

----------------------------------------------------------------------------------------------------------------------------------------------------------------------

© 2015 Pierrot Yarns (Gosyo Co., Ltd.). Translation by Linda Lanz. All rights reserved.



¥ = elongated sc stitch
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Edging: neckline, armholes, hem 0.50m

3.0mm hook 0.5cm continue
1 round
*Work neckline
edging in the round.
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